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| I— 11 @ REUVE D) RIERI300sSkthetask iy kBRI

+.csv

| = _1a

RIBIEIREEN . csv

| | _15_EEEF (EALRHSEE) SRERELER_HEALESA

) .csv

result

——

— _17_
— _17_
— _18_

L— 18

— _o1_
— _02_
— _03_
— _04_
I— res.

|— resultOl.csv

EEF SREELSR.csv
KIEERIFRIEEEIR . csv
FREELER (FHEL) -.csv
BEREBER (HE2_EFIE) .csv

result0l_FPTHRNEIHER . py
result0l 2¥FTRIEREFES . py
BRI _01.py

BERIEXER—EUE . py

CcCsv



I

K. py

I— result02.csv

I— speed result.csv

— e3X&EE_01 (18K) .csv

L— e &E_01(BE).csv

test

— _07MZEREE. py

I— demo3.py

I— my test 0l.py

— test_fii{Z.py

— Kf#thetaB TAYSM#ds_13.py

— MiERADBo1 . py

— B Rit. py

L MEHEF1205.py

work

— _o02_#id4aHIIRhEL . py

— _03_MIMEBRANBNIB (HE) .py

— _os_#i300skIEEh B KR ENL . py

— _o6_B&F tEEEHG. py

— _06_E2F MAHMEEZ.py

— _07_BUEFRIEEK (0070) . py

F— 07 SE—aKERAI300sETRME HiEl.py
— _os_iRiEthetasRIBLARMUE_FHiE28E "% .py
— _o0s_RUTEHEREfStheta K28 —%.py
— _09 F—RERE (FEEKIN) . py

— _10_ WREREFNBSRIZ00MWETSBEE. py
— _11_ i REED) _RIEAI300s K thetas kL BRI

— _12_ 3MKAR (IR XEMCHBIRE (A BHEER

base toolsHl).py

— _14_FERIR_HEGEICHREEE . py

— _15_S—RI&MNRERERE_FHEL.py

— _16_E&F_THRSE—Whdelta_theta®flEE.py
— _17_FIAEEAR.py

— _18_ SZEERM (FHEL) .py

— _18 BZERERER (HiE2_$iL) .py

— _19_EesatmEE. py

— 20 RASEESARBRIHRE . py



— _22 REZEEERE. py
F—— __init  .py

F—— __init  .py

F—— __pycache

| F—— __init .cpython-38.pyc

| L base tools.cpython-38.pyc

F—— base tools.py

-

|

|

|

|

|

| copy tools.py

L RAREEEBE

F—— __pycache

| F—— codell.cpython-38.pyc
| L find if intersect.cpython-38.pyc
codelOl.py

F__
F—— code02.py
L

find if intersect.py

python B AR HA D
1. utils.base_tools.py

EX T —EERNRHTE (b ERBERAN, WMALIRS ERLIRINEEL
)

import warnings

import numpy as np

from scipy.integrate import quad

from scipy.optimize import fsolve

def r(theta, a, b):
Fa] R B YR e sk il A0 A 5 2
:param theta: 2EA
:param a: WBIEZVIRRF1Z



15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46

47
48
49
50

:param b: RIEBKLE P/ (2*pi)
:return: RRr

return a + b * theta

def calc position(a, b, theta):

TTEEBREZ FVE (%, v)
:param a:

tparam b:

:param theta:

treturn:

r = a+ b * theta

X = r * np.cos(theta)
y = r * np.sin(theta)

return x, y

def calc_arc_ length(a, b, thetal, theta2):

TTHRPEXERREZNIIK, BER

:param a: WBIEZVIARFZ

:param b: RIEKEE P/ (2%pi)

:param thetal: EKIHKAIESIRA (SMKIBNEMA)

:param theta2: EKIHKMIZLSRAE SNEEIEA)

:return: FE—ERAIMHK

warnings.warn ("W AEEER",

DeprecationWarning)

integrand = lambda theta: np.sqrt(b ** 2 + (a + b *
theta) ** 2)

arc_length, @ = quad(integrand, thetal, theta2)

return arc_length



51 def find theta by arc length(a, b, current theta,
target arc length):

52 e

53 pEBMmIR, HRIXNNRTERE

54 tparam a:

55 tparam b:

56 sparam current theta:

57 tparam target arc length:

58 treturn:

59 e

60 warnings.warn ("Lt ET THEER, IRERK",

61 DeprecationWarning)

62

63 def equation(theta):

64 return calc_arc_length(a, b, theta, current theta) -
target_arc_length

65

66 theta solution = fsolve(equation, current theta - 1)[0]

67 return theta solution

68

69

70 # —————————

71 # HHEIK (theta SIS BXR), BESURELN r(0) MHSH dr/de
72 def dr dtheta(theta, b):

73 e

74 WiZXFthetat§S%
75 :param theta:

76 tparam b:

77 treturn:

78 e

79 return b

80

81

82 def arc_length integrand(theta, a, b):
8 3 mmnn
84 TE X T BRI IR R £X

85 :param theta: pass



86
87
88
89
90

91
92
93
94
95

96
97
98
99
100
101
102

103
104
105
106
107
108
109
110

111
112

113
114

115

:param a: pass

tparam b: pass

:return: SMEFREREN
return np.sqrt(dr dtheta(theta, b) ** 2 + r(theta, a, b)
*% 2)

def compute arc length(a, b, thetal, theta2):
e BERS AATEINK

TTEM 01 2 02 Ak (FIERBEBRRLENIK, SR BEETRER
A FRRYEIRIT &)

:param a: BEAVIARFR

:param b: RIEKLE P/ (2*pi)

:param thetal: EXIMKAERNA (NKIRER)

:param theta2: EXRINKMESNA GNEIRNER)

:return: FE—E01 F| 02895

length, error = quad(arc_length integrand, thetal,
theta2, args=(a, b))

return length
# o
#omm
# RLAEIEKFEthetaB (BRIAEINE—TTR, WE—TEESRIEFMEI
Mtheta)
# WRIERZEEKSEMIMNES HAMERIRRER, FIK{Gtheta others

def determine theta other(l, a, b, theta per): # 1Fl=2iRix,
a=0, b=0.55/(2*pi), theta perFlERI—T=MERES (HLLHNEKRD)

# SERZINFRZEEHTE, theta iMEEXKENZHAIthetad

# 1 ** 2 = (a + b * theta i)**2 + (a + b * theta per)**2
- 2*(a + b * theta i) * (a + b * theta i) * cos(theta per -
theta i)



116 # DIt — T HERFES T EDHES

117 def equation(theta i, 1, a, b, theta p):

118 return 1 ** 2 - (a + b * theta i) ** 2 - (a + b *
theta p) ** 2 + 2 * (a + b * theta i) * (

119 a + b * theta p) * np.cos(theta p - theta i)

120

121 # VIR — T EREFEBTHNEISHNER

122 theta others = np.zeros(len(theta per))

123

124 for i, theta p in enumerate(theta per):

125 # £ fsolve 3Kf# theta i

126 initial guess = theta p # #BEBMNEFUIXKAN theta p

127 theta i solution, = fsolve(equation, initial guess,

args=(1l, a, b, theta p))
128 theta others[i] = theta i solution
129
130
131 #
132 # BUIMKENITERE
133 def calculate velocity(a, b, theta values):

134 velocities = [1] # HIRIEEN 1 m/s

135 for i in range(l, len(theta values)):

136 sl = compute arc length(a, b, 0, theta values[i - 1])

137 s2 = compute arc length(a, b, 0, theta values[i])

138 ds = s2 - sl

139 velocities.append(ds) # HAN dt = 1, &EE v = ds/dt =
ds

140 return velocities

2. RIZTEEREAM Stheta_F7i5258—5.py

import numpy as np
import pandas as pd
from scipy.optimize import fsolve

from tgqdm import tgdm

SN U1 B> W DN

# WRIERZEEKSEMOIMNES HAMNERIXRRER, FIK{Ftheta others



def determine theta other(l, a, b, theta per): # lFl=2iRis,
a=0, b=0.55/(2*pi), theta perFlEBI— T RIVEEMA (LLHNEXH)

# SEGEIUNRZEESTE, theta iMREKREHHFIthetafd

# 1 ** 2 = (a + b * theta i)**2 + (a + b * theta per)**2 -
2*(a + b * theta i) * (a + b * theta i) * cos(theta per -
theta 1)

def equation(theta i, 1, a, b, theta p):
return 1 ** 2 - (a + b * theta i) ** 2 - (a + b *
theta p) ** 2 + 2 * (a + b * theta i) * (
a + b * theta p) * np.cos(theta p - theta 1)

# IR — T HERFEES T ESHER

theta others = np.zeros(len(theta per))

for i, theta p in enumerate(theta per):
# (£ fsolve 3KA# theta i
initial guess = theta_p # ¥AIEMERAIX)Y theta p
theta i solution, = fsolve(equation, initial guess,
args=(1l, a, b, theta p))

theta others[i] = theta i solution

23
24
25
26

return theta others

if name == ' main_ ':
(220 - 27.5 - 27.5) / 100 # tR(FHERER)
a=20

0.55 / (2 * np.pi)

o
Il

# IREIR R L IR hE AB(E R
df = pd.read csv("../output/ 05 RI300sHk{UEER.csv")
theta per = df.iloc[3, 1l:].values

# #IAfL= DataFrame, ATREFMETRITEER

all results = []



39
40
41
42
43

44
45
46
47
48
49
50
51
52
53
54

55

56

0 N o Ok W N R

11
12
13

# BHBTTR
sum_point = 223 #EZPZIN—RFKIR
for point in tgdm(range(sum point)):

if point == 0:

1 = (341 - 27.5 - 27.5) / 100 # Wk4F%ik, HEMIL

# ITESRITRAVERGERA theta i

theta per = determine theta other(l, a, b, theta per)

# BEITTRNESHIINA theta i HRFAN all results T

for theta in theta per:
all results.append([point, theta])

print (f"HBI PR {point} HVIZNEA theta i: {theta per}")

all results df = pd.DataFrame(all results, columns=["7 =77

=", "theta i"])

all results df.to csv("../output/ 08 RIZEEXRSFEHRRUIZEE

(RIBIEIEAE{itx,y) .csv", index=False, encoding="utf-8")

3. BRIZFTREEKRE_7E.py

import pandas as pd

import numpy as np

# EENZ RIRTF IR GRURISENE
input file path = '../output/ 14 FRIRFEIRZEM.csv'
data = pd.read csv(input file path, index col=0)

# EXEE b, ATIHEFR

b =0.55/ (2 * np.pi)

# ITERENKRE, BETR/IBEEIRZN 1 n/s

def compute velocity(theta vals, b, node index):



14
15
16
17
18
19
20

21
22
23
24
25
26
27
28
29
30
31
32

33

34
35
36
37
38
39

4.

if node index == 0:
return [1] * len(theta vals) # TRIMNMBEEEN 1 m/s

velocities = []
for i in range(l, len(theta vals)):
r = b * theta vals[i] # IRIE theta ITEHF1EX r
ds = r * abs(theta vals[i] - theta vals[i - 1]) # 1t
H ds = r * db
velocities.append(ds) # fFifRE (dt = 1#))

return [1] + velocities # FE—TEREIRN 1, RE—N4E

# BIE—1HHY DataFrame FZFEITEFIERE

corrected velocities df = pd.DataFrame()

# BHEBITR, TEEEAERRZNTRi_v”

for index, column in enumerate(data.columns):

SN B

theta vals = data[column].values # FREXE TR theta 1H

velocities = compute velocity(theta vals, b, index) # 1t
HiRE
corrected velocities df[f' T/ {index + 1} v'] = velocities

# BREFEAGRZN TRL_v"

# RIFITERENEELRIEEIcsvX
output file path = '../output/ 18 BRIFEEER (HEL).csv'

corrected velocities df.to csv(output file path, index=False)
print (f"ERFRELIERTFE] {output file path}")

RZIRERAA(FE2_g1R).py

import pandas as pd
import numpy as np

from utils import base tools



0 N O

11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

26

27
28
29
30
31
32
33
34
35
36
37
38

# EEZ BIRFINFERE E’J%%?I&*HE
input file path = '../output/ 17 KXEERIMNREEIR.csv'
data = pd.read csv(input file path, index col=0)

a==~0

# EXEE b, BTItE+12 r
b =0.55/ (2 * np.pi)
dt =1

non néj\_\l‘:'zlz Réj\ nonn

# ITEEENRE, BARTRIEEIRZN 1 n/s

def compute velocity(theta vals, b, node index):

if node_index == 0:
return [1] * len(theta vals) # TRINMBEEREN 1 m/s
velocities = []

for i in range(l, len(theta vals)):
r = b * theta vals[i] # 1R#E theta TTEFRE r
# ds = r * abs(theta vals[i] - theta vals[i - 1]) #
ITH® ds = r * d6
ds = base tools.compute arc length(a, b,
theta vals[i], theta vals[i - 1])
velocities.append(ds/dt) # TFERE (dt = 1)

return [1] + velocities # B —TEREIRXKN 1, REF—BH

# BIE—1¥fY DataFrame RFEITBEENRE

corrected velocities df = pd.DataFrame()

# BRHBITTR, TEREAERZN TRi_v”
for index, column in enumerate(data.columns):
theta vals = data[column].values # FRENEBTTRHE theta E

velocities = compute velocity(theta vals, b, index) # 1t
BiEE



corrected velocities df[f' T/ {index + 1} v'] = velocities

# EEFMEAFSRNNRL_v”

# RFITERNERLIERIcsv
output_file path = '../output/ 18 ZREELR (HE2 FFEIE).csv'
corrected velocities df.to csv(output file path,

encoding="gbk", index=False)
print (£" 2R ERELHIERFE] {output file path}")
5. WABEESE A KAARBIARRES. py

import numpy as np

import matplotlib.pyplot as plt
from scipy.integrate import odeint
from scipy.optimize import fsolve

import pandas as pd

def plot spiral(luoju, k):
AR R
theta = np.arange(20 * 2 * np.pi, 0, -0.01)
r = k * theta
X = r * np.cos(theta)

y = r * np.sin(theta)

plt.figure(figsize=(6, 6))
plt.plot(x, y, '-=-")
plt.axis('equal')
plt.grid(True)
plt.xlabel('x")
plt.ylabel('y")
plt.title('$B4&E")
plt.show()

def mydtheta(theta, t, k):



RSB BIEARREES
return -1 / (k * np.sqrt(l + theta ** 2))

def solve theta(luoju, x1, yl, thetal, d):
" RiRthetalHINEE, AEAMBMBBAR"""
k = luoju / (2 * np.pi)

fun = lambda theta: (k * theta * np.cos(theta) - x1) ** 2
+ (k * theta * np.sin(theta) - yl) ** 2 — d ** 2
qg=0.01

theta = fsolve(fun, thetal + q)[0]
while theta <= thetal or abs(k * theta - k * thetal) >
luoju / 2:
g += 0.1
theta = fsolve(fun, theta + q)[0]

return theta

def compute positions(tspan, theta0, luoju, D1, D2, N):
" T ALAOE
k = luoju / (2 * np.pi)
theta sol = odeint(mydtheta, thetal, tspan, args=
(k,)).flatten()

X1 = k * theta sol * np.cos(theta sol)
Yl = k * theta sol * np.sin(theta sol)
X = np.zeros((N + 1, len(X1l)))
Y = np.zeros((N + 1, len(X1l)))

Theta = np.zeros((N + 1, len(X1l)))

X[0, :] X1
Y[O0, :] Y1
Theta[0, :] = theta sol

for j in range(len(tspan)):

for i in range(l, N + 1):



d = D1 if i <= 2 else D2

theta ij = solve theta(luoju, X[i1 - 1, J], Y[1 -
1, jl1, Theta[i - 1, j], d)

Theta[i, j] = theta ij

X[i, j] = k * theta ij * np.cos(theta ij)

Y[i, j] = k * theta ij * np.sin(theta ij)

return X, Y, Theta

def compute velocity(Theta, k, dt):
nn ll.i_l_%:‘@}gé&j;g nnn

V = np.zeros(Theta.shape)

V[i:, 0] = -k * np.sqrt(l + Theta[:, 0] ** 2) * (Thetal:,
1] - Theta[:, 0]) / dt

V[i:, -1] = -k * np.sqrt(l + Theta[:, -1] ** 2) *
(Theta[:, -1] - Theta[:, -2]) / dt

V[i:, 1:-1] = -k * np.sqrt(l + Theta[:, 1l:-1] ** 2) *
(Theta[:, 2:] - Theta[:, :-2]) / (2 * dt)

return V

def export data(X, Y, V, tspan, dt, filename):
" S AR RS Exce 1
nn = int(1l / dt)
index = np.arange(0, len(tspan), nn)
Dataxy = np.zeros((2 * (X.shape[0]), len(index)))
Dataxy[0::2, :] = np.round(X[:, index], 6)
Dataxy[l::2, :] = np.round(Y[:, index], 6)

Datav = np.round(V[:, index], 6)

with pd.ExcelWriter(filename) as writer:
pd.DataFrame (Dataxy).to excel(writer, sheet name='f{i
&', startcol=1, index=False)
pd.DataFrame (Datav).to excel(writer, sheet name='®

[E', startcol=1, index=False)



91
92 def main():

93 # SEIRE

94 luoju = 55e-2 # U2FF

95 k = luoju / (2 * np.pi) # YEIEE%

96

97 L1 = 341e-2

98 Dl = L1 - 27.5e-2 * 2

99 L2 = 220e-2

100 D2 = L2 - 27.5e-2 * 2

101

102 # R hEL

103 plot spiral(luoju, k)

104

105 # HB— KBFEE—TIEFRIIT

106 theta0 = 2 * np.pi * 16

107 dt = 0.1

108 tspan = np.arange(0, 300, dt)

109 N = 223 # Wk+B+RENETE

110

111 X, Y, Theta = compute positions(tspan, theta0, luoju, D1,
D2, N)

112

113 # TTERELE

114 V = compute velocity(Theta, k, dt)

115

116 # 4Rl SKIEF AR E FERT B T2 1

117 plt.figure()

118 plt.plot(tspan, V[0, :], 'b-', linewidth=1.3)

119 plt.ylim([0, 1.1])

120 plt.xlabel ('Bf[E]")

121 plt.ylabel ('kBEFHRE")

122 plt.title('RIEEITESIINERE")

123 plt.show()

124

125 # SHEE

126 export data(X, Y, V, tspan, dt, 'resultl test.xlsx')



127
128
129
130
131
132

print ("EEITETH! "

if name == " main

main()

6. WIRERRE

1
2
3
4
5

6

7

8

9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27

import numpy as np

import matplotlib.pyplot as plt

from scipy.integrate import odeint

from scipy.optimize import fsolve

from find if intersect import find if intersect
=

from code0l import solve theta # (RIRIEREEFE

# SEEK
luoju = 55e-2 # Y&IB
k = luoju / (2 * np.pi) # BEAEZRH

Ll = 34le-2

Dl = L1 - 27.5e-2 * 2 # WIBFWMNILZEIMNIES
L2 = 220e-2

D2 = L2 - 27.5e-2 * 2 # HMIEFAEMNILZBINES
def plot spiral(k):

T
theta = np.arange(l6 * 2 * np.pi, 0, -0.01)
r = k * theta

X = r * np.cos(theta)

y = r * np.sin(theta)

plt.figure(figsize=(6, 6))
plt.plot(x, Y, I__')

plt.gca().set aspect('equal', adjustable='box')

plt.xlabel('x")
plt.ylabel('y")

# RIRRIRER



plt.grid(True)
plt.show()

def mydtheta(t, theta, k):
NS STE: RRERATEE
return -1 / (k * np.sqgrt(l + theta**2))

def compute positions(X, Y, Theta, tspan, N, k, luoju, D1,
D2):
“ SRR B RAO R
for j in range(l, len(tspan)):
for i in range(l, N + 1):
d = D1 if i <= 2 else D2
theta ij = solve theta(luoju, X[i - 1, J], Y[i -
1, j1, Theta[i - 1, j], d)
Theta[i, j] = theta 1ij
X[i, 3]
Y[i, J]

k * theta ij * np.cos(theta ij)

k * theta ij * np.sin(theta ij)

def dynamic_plot(X, Y, step, dt):
RS
plt.plot(X[:, -1], Y[:, -1], 'k-', linewidth=1.2,
marker='o', markersize=6, markerfacecolor='r"')
plt.title(f't = {300 + step * dt}')
plt.grid(True)
plt.draw()
plt.pause(0.01)

def detect collision(X, Y, Theta, N, L1, L2):
"L S L2 B E R ERE
for i in range(N):
if find if intersect(X, Y, Theta, i, L1, L2):
return True

return False

def compute velocity(Theta, k, dt):

PaZa Y

R



62

63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78
79
80
81
82
83
84
85
86
87
88
89
90
91
92
93

94
95
96

def

def

return -k * np.sqrt(l + Theta[:, -1]**2) * (Theta[:,
- Thetal[:, -2]) / (dt / 2)

plot velocity(V):

SR

plt.figure()

plt.plot(V, 'b-', linewidth=1.3)
plt.ylim([0, 1.17])
plt.xlabel('IEFE")

plt.ylabel ('IEFHIRE")
plt.title( ' HEITERINEESH ")
plt.show()

main():

" ERE, ITREEE"

theta0 = 57.032076651015522 # #RAE
dt = 0.2

step = 0

N = 223 # B#

# VIR B

X = np.full((N+1, 3), np.nan)

Y = np.full((N+1, 3), np.nan)
Theta = np.full((N+1, 3), np.nan)
Theta[0, 2] = thetal

flag = False

plot spiral(k) # &Hl¢JIRtRNEs

# FHAMSEN
while not flag:
step += 1
X[:, 0], Y[:, 0], Theta[:, 0] = X]

Theta[:, 2]

# (£ odeint REBEMDHTE
tspan = [0, dt / 2, dt]

-1]



theta sol = odeint(mydtheta, Theta[0O, 0], tspan,
args=(k,))
X1
Y1l

k * theta sol * np.cos(theta sol)
k * theta sol * np.sin(theta sol)

# BMENAE

X[0, ] = X1.flatten()

Y[O, :] Yl.flatten()

Theta[0, :] = theta sol.flatten()

# ITESTILNUE
compute positions(X, Y, Theta, tspan, N, k, luoju,
D1, D2)

# oHRSLEHIH T
dynamic_plot(X, Y, step, dt)

# hFEN

if detect collision(X, Y, Theta, N, L1, L2):
flag = True
break

# ITEEREHSGHEE DM
V = compute velocity(Theta, k, dt)
plot velocity(V)

if name == main :

main()
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